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BunIeT LAJTGAMLA PERSIJBA LEGENDER 0 ETT ENORMT PEETIRT BPOS Ja ak ZAL,
DEN LEGENDARISBA PERSISBA RIANEN, BLIRTRAR 1 RADUBA, PRINEAMAN AV RBABUL.
Nar Zab BAD /M RADUBAS NAND GAY RENNES FAR ZAL BN UTMANING.

Pav pons n JSTEARER 0 PERLOEN, ETIRETTERADE 0 TILL ©GH MED n— 1, ©@CH m
DUBBELRIRTADE VAGAR, ETIRETTERADE FRAN 0 TILL ©CH MED m — 1. YARIE Vae
JANMANBINDER BTT PAR AV PRPARYIS OLIRA JTaDER. YVARIE PAR AV JTADER
JANLANBINDS AV ROGST BN VaG. VISJA AV VICARNA AR RONGLIGA VICGAR JOM/M
ANVANDS BOR RESOR AV DE RONELIGA. ZALS UPREGIRT ARk ATT AVGORA VILRA AV
VAGARNA JOM aR BONGLIGA.

ZAL NAR BN BARTA MED ALLA JTEDER OGH VAGAR 0 PERSIEN. AN VAT 0NTE VILRA
VAaBAR JOMN AR RONGLIGCA, MEN AN BAN Fa HNJIALY AV BN VANLIC, MAYTISR FaGEL,
DEN VANLICA, AVTISBA RACRELN JOM ARk ZALS BESRYDDARE. [DEN VANLICA, AVTISRA
FaGELN VILL DEGR INTE BERATTA ROR ZAL VILRA DI BEONGLICA VICARNA AR RART
&Y, gvantat BERATTAR HEN FOR ZAL ATT DE RONGLIGA VACARNA BILDAR N
@YLLENE MEANGD. BN MENGD VAGAR &R BN @YVLLEME MANGD QM OCH BNDAIT @M

o DEN INNENALLER ERABT n — 1 VacAR, @GH
o FOR VARIE PAR AV JTADER AR DET MOILIGT ATT RESA MELLAN DEM CERNOMA ATT
BMNBART REJA LANGS BANTER 0 MANGDEN.

PEISVTEOM BAN ZAL BRAGA DBDEN VANLIGA, MAVTISBA BFAGELN NIGRA FRICOR. ROR
VARIE BRAGA &

L YVarniEk ZAk 3 @YLLENE MENCD AV VAGAR
2, BERATTAR DEN VANLIGA, MAYTISBA FAGELN FOR ZAL FHUR MNANGA VEGAR 0 BEN
VALDA @YLLENE VECEN JOM 3R RONGLIGA.

DO3T PREGRAMN JIBA WIEALPA ZAL ATT HITTA ALLA RONELIGA VAGAR GRENOM ATT
BRAGA DEN VANLIGA, MAYTISRA RAGELN NOGIT ¢ FRAGOR. DOMAREN BOMMER JSPELA
DEN VANLIGA, MAVTISRA FaCELNS ROLL,

UARPLEMENTATION DETAILS
YOU SHOULD IAPLIAGNT THE FOLLOWING PROGEDYRE:

int[] find roads(int n, int[] u, int[] v)
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o M NUMBER OF @ITIES,

o U AND v ARRAVS OF LENEGTH m. Bork Ak 0 <i<m —1, u[i] AN v[i] ARE TRE
@ITIES CONNECTEID BY ROAD i.

o THIS PROGEDURE JHOULD RETURN AN ARRAY OF LINGTH n — 1 CONTAINING
THE LABELS OF THE ROVAL ROADS (18 AN ARBITRARY ORDIR).

YOUR JOLUTION GAN MARE AT MARIT ¢ CALLY TO THE FOLLEWING GRADIR
PROCERVRE

int count common roads (int[] r)

o 72 ARRAY OF LENGTH 1 — 1 CONTAINING THE LABELS OF ROADS 0N A GOLDEN
JE8F N AN ARBITRARY ORDER).
o THIS PROGCEDUYRE RETYURNS THE NUMBER OF ROYVAL ROADS 0N 7.

ERAMPLE
find roads(4, [O, O, O, 1, 1, 21, [1, 2, 3, 2, 3, 31])
find_roads(...) count_common_roads ([0, 1, 2]) =2 count_common_roads([5, 1, 0]) =3

00 TH0S ERAMPLE THERE ARE 4 GITIES AND 6 ROADSL W2 DENOTE BY (a,b) A ROAD
CONNEGTING @ITIRS a AND b, THE ROADS ARE LABELID FREM 0 T© 5 0N THE
reLLEWING erDER: (0,1), (0,2), (0,3), (1,2), (1,3), and (2,3). BvEry eouDaEN JSET
HAZ n— 1 =3 ROADA

ASFUME TAN THE ROVAL ROADS ARE THE ROADS LABINED 0, 1, AND 5, THAT 04,
TE ReARS (0,1), (0,2), anb (2,3). Trase

e count common roads ([0, 1, 2]) RETYURNS 2, THIS QUERY 0F ABOUT ROADS
LABERED 0,1, AND 2, THAT 045 keADs (0,1), (0,2) awp (0,3). Twe ©F THEMN
ARE ROVAL ROADRI

e count common roads ([5, 1, 0]) RETUVRNS 3. THIS QUERY 0F ABOUT FHE SET

OF ALL ROVAL ROADS,

THE PRECEDVRE find roads JROULD RETVRN [5, 1, 0] QR ANY OTHER ARRAY OR
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LENGTH 3 THAT CONTAINS THESE THREE ELEMENTS
NeTE THAT THE FOLLEWING GALLS ARE NET ALLEWED:

e count common roads ([0, 1]): RERE TRE LENGTH OF r IJ NOT 3.

e count common roads ([0, 1, 3])3 RERE r DOES NOT DEJSCRIBE A GOLREN SBET,
BEGAVSE 0T 04 JAPQISIBLE TE TRAVEL BREM GITY (0 T@ 3 ONLY VI/ING THE
reaps (0,1), (0,2), (1,2).

CONITRAINTS

e 2<n <500

n—1<m<n(n-1)/2

0 <uli],v[i] <n—1Ceor ant 0 <i<m—1)

Bor ank 0<i<m-—1, ROAD ¢ GONNECTS TWO DIFFERENT &0TIES (0.G.,

o THERE 0F AT MNOIT ONE ROAD BETWEEN RAGH RPAIR OF GITIEL

o IF 04 POISIBLE TO TRAVEL BETWERN ANY PAIR OF GITIES THROUEH THE ROADZ

o THE JET OF ALk ROVAL ROADS ¥ A GOLDEN JET.

e find roads JHOULD @ALL count common roads AT MAOIT ¢ TIAEL N RAGH
CALL, TRE JET OF ROARDS JPERGIFIED BY r JHNOULD BE A GOLDEN JET.

JUBTASRS

18 peOwtd) n <7, g = 30000

(7 pe1xts) n < 50, ¢ = 30000

€21 peOnTs) n < 240, ¢ = 30000

C1© peInT) g = 12000 AND THERE 0¥ A REOAD BETWEEN FVERY PAIR OF GITIES
(30 peInTS) g = 8000

DO e

&

JAMPLE CRADER

THE JAMNPLE CRADER READS THE INPUT 1N THE FOLLOWING FORMATS

ellE 1t n m
o WG 2+ (GOr AL 0 <i<m—1% wuli] v[i
o 002 2+ m:  s[0] s[1] ... s[n— 2]

Mare, s[0],s[1],...,s[n — 2] ARE THE LABELS OF THE ROVAL ROADJL

THE JAAPLE GRADER QUIPYTS YES, 0F find roads GALLS count common roads AT
MeIT 30000 TIMES, AND RETVRNS THE CORREGT JET OF ROVAL READS OTRERWISE,
0¥ OUTPYUTS NO.

BEWARE THAT THE PROGEDPYRE count common roads 0N THE JAMAPLE GCRADER DOES
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NOT GHECR WHETHER r HAS AbL PROPEIRTIZS OF A GOLDEN JET. JNSTRAD, OF
COUNTS AND RETYRNS THE NUMABER OF LABELS OF ROVAL ROADS I8 THE ARRAY 7.
FNOWwRVER, 08 THE PROGRAMN YOU JUBMIT GALLS count common roads WITH A JET
OF LABELS THRAT DOES NOT DESCRIBE A GOLRDEN JET, THE GCRARING VERRICT WILL
BE *WRONE ANSWER.

TEGRNIGAL NOTE

THE PROGEPYRE count common roads 0N Goee AND PASRAL UJES THE PAK BY
RECERENGE METHED [OR EGFIGIENGY REAJONS VOU @AN JTINL GALL THE
PROGEDURE 0N THE USVAL WAR THE GRADER 0 GUARANTEED NMOT TO© GHANGE THE
VALYE @F .
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